
QTY DESCRIPTION
1 BASE, 2 PORT SII
1 COVER, COMBO,2 PORT
2 DESG COVER FOR IMO
2 DESG STRIP. PAPWR WHITE
2 SCREW #6-20 X 3/4", PAN HEAD
2 SCREW #6-32 X 1", BINDING HEAD
1 BLANK, SII, 180 DEG
1 BAG 9' X 10.5" ORTRONICS LOGO
1 INSTR SHEET SII 2 & 3 PORT SMB
3 4"CABLE TIE

QTY DESCRIPTION
1 BASE SERIES II, 3 PORT, SMB
1 SMB COVER, COMBO SERIES II, 3 PORT/6 PORT TJ
3 DESG COVER IMO
3 DESG STRIP, PAPER, WHITE
4 SCREW #6-20 X 3/4", PAN HEAD
4 SCREW #6-20 X 1", BINDING HEAD
2 1 U SII BLANK
1 BAG, 9" X 10.5", ORTRONICS LOGO
1 INSTR: SERIES II SMB 2/3 PORT
2 4" CABLE TIE




